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PA3JIEJI 1. « CEPAEYHO-COCY/IHCTAA CUCTEMA. /IBIXATE/IbHAA CHCTEMA. HEPBHAA
CUHCTEMA» (5 cemecmp)

IIposepsie 3ananue BapuaHTbl 0TBETOB Tun
Masfl CJI0KHOCTH
KOMIICTCH BoOIIpoca
s
YK-4.2 1.Match English words with their a) KpoBooOpalcHHe HU3Kui /
translations. b) cepmie CpeaHHMIA
1. Heart C) cocymbl
2. Vessels d) mepukapa
3. Pericardium
4. Blood circulation
YK-4.2 2.Match  English words with their a) bronchi HU3KUi /
translations. b) lungs CpeaHMIA
1. Tpaxes c) pleura
2. TlneBpa d) trachea
3. bponxu
4. Jlerkue
YK-4.2 3.Match  English words with their a) Mo3r HU3Kui /
OIlK-1.2 translations. b) crnuHOI MO3T CpeIHmiA
OlK-1.3 1. Neuron C) HeiipoH
2. Spinal cord d) wHeps
3. Brain
4. Nerve
YK-4.2 4.Fill in the necessary modal verbs. a) cannot CpeaHui
YK-4.3 1. We are first-year students. We ---- perform b) may
operations
YK-4.2 5.Match  English words with their a) Bo3pacTaTh CpeaHui
YK-4.3 translations. b) Bapxats
1. Exhale C) BBIABIXaTh
2. Inhale d) ocBoOOXmaTh
3. Release
4. Increase




YK-4.2 6.Fill in the necessary word. a) fell cpenHuit
YK-4.3 1. Last week my elder sister ---- ill with the b) dropped
grippe. c) dipped
d) tumbled
YK-4.2 7.Choose the correct variant to complete the a) comes/ Il see cpenHuit
YK-4.3 sentence. b) had come / will have
OINIK-1.2 1. The consultant ---- round at about 1.00 seen
OIK-1.3 p.m., S0 we ---—- him then. c) was coming / will
see
d) came/saw
YK-4.2 8.Choose the correct variant to complete the a) smoke CpeaHHiA
VK-4.3 sentence. b) smoking
1. You'll need to stop ---- from now on. c) smoked
d) had smoked
YK-4.2 9.Choose the correct variant to complete the a) perform CpeaHMIA
YK-4.3 sentence. b) is performed
1. The surgeon---- the operation now is the c) performed
assistant doctor of our group. d) is performing
YK-4.2 10.Choose the correct variant to complete a) which is done CpeaHHiA
YK-4.3 the sentence. b) done
1.1t’s an operation---- under local anaesthetic. c) who is done
YK-4.2 11.Which body system are the following a) Respiratory system CpeaHui
YK-4.3 medical terms connected with? b) Cardiovascular
1) vein, valve, pressure, aorta system
2) neurons, sensitivity, brain, olfactory c) Nervous system
3) bronchus, mucus, nose, ventilation
YK -4.2 12.Match English words and phrases with a) an illness CpeaHHA
YK -4.3 their definitions: characterized by
OIIK-1.2 1. Trauma inflammation of the
OlK-1.3 2. Pneumonia lungs
3. Cardiovascular b) a severe wound or
4. Condition shock caused by an
injury
c) a medical illness or
disease
d) relating to the system
that circulates blood
through the body
YK -4.2 13. Match phrases with their translations a) capillary venous CpeaHHMIA
YK -4.3 1. BeHO3HBIH 3aCTOM. hemorrhages
2. BenosHast sHIIeATONATHSI. b) venous stasis
3. Tpom003 BeH Mo3ra. C) venous
4. KanumuispHO-BEHO3HBIE encephalopathy
KPOBOUBJIHSHUSL. d) thrombosis of the

cerebral veins




YK -4.2 14. Match phrases with their translations. a) cerebral strokes CpeaHMIA
YK -4.3 1. CocyancTo-MO3roByio b) congenital
HEJO0CTaTOYHOCTh abnormalities of
2. Henocrarounoctu MO3TCOBOTO brain
KpoBooOparuenust c) cerebral vascular
MO3roBbIX HHCYJIHTOB insufficiency
4. BpoXICHHBIE aHOMAJUs  COCYJOB d) manifestations of
Mo3ra. cerebral circulatory
YK -4.2 15. Match phrases with their translations. a) mapajary MBIIIII cpeaHui
YK -4.3 1. Vagus nerve IJIOTKU Y MHILIEBOJIA
OIlK-1.2 2. Paralysis of the muscles of the b) cBucanue mMsarkoro
OlK-1.3 pharynx and esophagus. Heba
3. Drooping soft palate C) HOCOBOM OTTEHOK
4. Nasal tinge of the voice rosioca
d) Omyxnarouuit HepB
YK-4.2 | 16. Major nasal diseases include: a) 1,2,3 cpeaHui
VK-4.3 1. Maxillary sinusitis b) 3,4
2. Polyps and cysts of the nose and c) 1,234
sinuses d 14
3. Rhinitis
4. Frontitis
YK-4.2 | 17. Fill in the blank with the necessary a) esophageal wall cpeaHui
YK-4.3 | words: b) heart
1. ECG is one of the methods for ----- --- c) vascular walls
-- studly. d) brain vessels
YK-4.2 18. Match phrases with their translations. a) CTaBHTh cpenHuit
YK-4.3 1. To make diagnosis MpeIBaPUTEIbHBIN
2. To make accurate diagnosis JIMarHo3
3. To make an admitting diagnosis b) craButh
4. To make clinical diagnoses KITMHHYECKHH
JUarHo3
C) JAMarHOCTUPOBATH
d) craBuTh
MIPaBUJIbHBIN
JUarHo3
YK-4.2 | 19. Match up the beginning of the sentences a) ...congenital cpenHuit/
YK-4.3 | 1-4 with the appropriate ending a-d to form (present at birth), BBICOKHIA
821121; true sentences. while  others are

1. Cardiovascular disease is...

2. Some cardiovascular diseases are...
3. Thenoseis...

4. The paranasal sinuses are...

b)

acquired later in life.
...a generic term for
diseases of the heart
(cardio) and blood
vessels (vascular).
...membrane-linked,
air-filled cavities in
the bones of the skull
that are connected to
the nose by
passageways.




d) ...the primary entry
point for air into the
respiratory system.

YK-4.2
YK-4.3

20. Match up the beginning of the sentences
1-4 with the appropriate ending a-d to form
true sentences.

1. Breathing is caused by...

2. The average person breathes about...

3. Nerve impulses travel at...

4. Neurotransmitters are classified as...

a) ...excitatory or
inhibitory according
to their effects on
postsynaptic
membranes.

b) ...16 times each
minute and takes in
one pint of air (0.5
liters) with each
breath.

C) ...an average of 160
feet/second (50
meters/second).

d) ...the muscles
between the ribs, the
external intercostal
muscles, and the
diaphragm.

cpeanuii/
BBICOKHH

PA3JIEJI 2. (ITHIIIEBAPHUHTEJ/IBHAA CUCTEMA. DH/IOKPHHHAA CHCTEMA.
MOYEBBIIETUTEIBHAA CUCTEMA» (6 cemecmp)

IIpoBepsiem 3ananue BapuanTbl oTBeTOB Tun
i CJI0KHOCTH
KOMIIETECHI BOHpoca
us
YK-4.2 1.Match  English words with their a) Kemunsiid HU3KHiA /
translations. y3bIPb CpenHui
1. Esophagus b) TMomxenynounas
2. Stomach xKenesa
3. Liver ¢) IumeBon
4. Gall bladder d) Xenymox
5. Pancreas e) Ileuenn
YK-4.2 2.Match  English  words with their a) hormones HU3KWit /
translations. b) adrenal cpeaHui
1. TopmoHbI c) gland
2. Tunoduz d) hypophysis
3. Kenesa
4. HanamouyeyHnk
YK-4.2 3.Match English words with their a) yperpa HU3KU /
OIlK-1.2 translations. b) mouka CpenHuii
OIK-1.3 1. Kidney C) MOYETOYHHK

2. Ureter
3. Bladder
4. Urethra

d) MoueBoii My3BIph




YK -42 |4.Match English verbs with their a) TMpHUBECTH B CpeaHui
YK -4.3 translations. JIBYDKEHUE
1. Alter b) BausTH
2. Affect C) paspbIBaTh
3. Disrupt d) wu3meHsaTH (C)
4. Trigger
YK -4.2 5.Fill in the necessary word. a) tongue cpenHuit
VK -4.3 1. The patient’s ----- was thickly coated. b) language
VYK -4.2 | 6.Choose the correct variant to complete the a) take CpeaHui
YK -4.3 sentence. b) taking
1. I'd strongly advise you ---- the medication. c) to take
d) took
VK -4.2 | 7.Choose the correct variant to complete the a) thatis inserted CpenHuit
YK -4.3 sentence. b) inserted
OIlK-1.2 1.1t’s an instrument---- through a small hole in
OIK-1.3 the tummy wall to have a look inside.
YK-4.2 8.Fill in the necessary modal verbs. a) may CpeaHui
YK-4.3 1. Medical students ---- know Anatomy well. b) must
YK -4.2 | 9.Choose the correct answer. a) Will he be able CpeaHUI
YK -4.3 1. ------ to go into a rehabilitation unit before b) Was he able
he comes out? c) Had he been able
d) Isheable
YK-4.2 10.Choose the correct variant to complete a) write CpeaHUI
YK-4.3 the sentence. b) is writing
1. The prescription---- out by the doctor was c) wrote
for cough mixture. d) had been written
YK-4.2 11.Which body system are the following a) Endocrine system CpeaHu
YK-4.3 medical terms connected with? b) Urinary system
1) thyroid, carriers, gland, neurosecretion c) Digestive system
2) peritoneal cavity, chewing, absorption, villi
3) urea, bladder, cortex, nephron
VK -4.2 | 12.Match English phrases with their a) THCTOJOTUYECKUIt CpenHuit
YK -4.3 | translations: JIMarHo3
OIlK-1.2 1. Curable disease b) xkmuHMUYECKMit
OIK-1.3 2. Hereditary disease JIMArHO3
3. Acute disease C) OKOHYATEJIbHBIN
4. Acquired disease JTMarHO3
5. Progressive disorder d) npuoOpereHHast
6. Histologic [al] diagnosis 00Je3Hb
7. Clinical diagnosis €) MPOrpecCHpyroIe
8. Final diagnosis e 3a00JeBaHMe
f) wuzneunmas
00JIe3Hb
g) HacJeICTBEHHOE
3a00s1eBaHNe
h) ocrpoe

3a00J1€BaHUE




YK -4.2 | 13.Match English phrases with their a) Xx-ray cpenHuit
YK -4.3 | translations: b) echocardiography
1. PenrtreHorpaduu C) gastroscopy
2. Dxokapauorpaduun d) electrocardiograp
3. Dnextpoxapauorpadus hy
4. Tacrpockomnus
YK-4.2 | 14. Fill in the blank with the necessary a) esophageal wall cpenHuit
YK-4.3 | words: b) heart valve
1. Esophagoscopy is one of the methods for -- c) vascular walls
-------- study. d) brain vessels
VYK -4.2 | 15. Fill in the necessary verbs. a) are reabsorbed CpeaHuI
YK -4.3 | Anephron1) ----- the functional working unit b) trickles
OIK-1.2 | of the kidney. Blood 2) ----- ----- in the c) is
OHK-13 | hephrons and toxic wastes are removed, while d) is filtered
water and necessary nutrients 3) ----- ----- into
the system. Each nephron produces a minute
amount of urine, which then 4) ----- into the
renal pelvis.
YK -4.2 | 16.Match up the beginning of the sentences a) ...begins at the BBICOKHI
YK -4.3 1-4 with the appropriate ending a-d to form end of the large
true sentences. intestine and ends
1. The mouth is.... the entrance to the at the anus.
digestive system. b) ... the throat with
2. The esophagus connects.... the throat the stomach
with the stomach C) ... the entrance to
3. The appendix is... the digestive
4. The rectum is a chamber that... system.
d) ...a small, finger-
shaped colon,
which is
connected to the
rectum.
YK -4.2 | 17. Fill in the necessary words a) calcium BBICOKHI
YK-43 | Thel) ----- of the urinary system is manifested b) phosphate
in the fact that the kidneys maintain 2) ----- c) physiology
through several mechanisms. d) homeostasis
The kidneys can control the excretion of
potassium, sodium, 3) ----- , magnesium, 4) -----
and chloride ions into the urine.
YK -4.2 | 18. Match sentences with their translations. a) The kidneys even CpeaHUI
VYK -4.3 1. TlaTtomoruu MOYEBBIBOISAIINX MyTeH in a healthy child

CYIIECTBYIOT CaMble pa3JIUIHEIC.

2. Haubomee  wyacTelMM  NpUYHMHAMHU
NaTOJIOTUU  SIBIISTIOTCSL  MH(EKIHU
MOYEBBIACTUTEILHON CUCTEMBI.

3. Tloukm naxe y 370pOBOTO peOCHKa

paboTaloT ropa3go Xyxke, UYeM Yy
B3pPOCJIOTO.

4. YroObl HE JOMYCTUTh Pa3BUTHA
CEpbE3HBIX  MOCIEIACTBUM,  Bpaudu

b)

work much worse
than in an adult.
To prevent the
development  of
serious
consequences,
doctors
recommend
taking a urinalysis




PEKOMEHIYIOT CcaBaTh OOIIMN aHAU3
MOYHM pa3 B MOJITOAA.

d)

once every six
months.

There are a
variety of
pathologies of the
urinary tract.

The most
common causes of
pathology are
infections of the
urinary system.

YK-4.2
YK-4.3

19. Match up the beginning of the sentences
1-4 with the appropriate ending a-d to form
true sentences.

1. Gastroesophageal reflux  disease

occurs...

2. The stomach is...

3. Defecation is...

4. Constipation is...

b)

d)

...a J-shaped
organ that has a
maximum length
of 10 inches (25
centimeters) and a
maximum  width
of 6 inches (15
centimeters).
...the final step in
the digestive
process that
removes all
undigested
materials from the
body.

...the result of too
much water being
absorbed into the
colon.

...when the lower
esophageal
sphincter does not
close properly and
stomach contents
leak back, or
reflux, into the
esophagus.

cpeanuii/
BEICOKHH

YK-4.2
YK-4.3

20. Match up the beginning of the sentences
1-4 with the appropriate ending a-d to form
true sentences.

1. Glucocorticoids are...

2. Most endocrine glands continue. ..

3. The urinary bladder serves as...

4. Cosmetic dehydration is...

d)

...a  temporary
storage reservoir
for urine.

...the practice of
taking large doses
of diuretics to
cause temporary
weight loss.
...the  dominant
hormones of the
resistance phase.
...to function and
secrete hormones
throughout an
individual’s
lifetime.

cpennauii/
BBICOKHUH




PA3/EJT 3. «kKOCTHOMMBILHIEYHAA CHCTEMA, HHTEITMEHTHAA CHCTEMA.
KPOBEHOCHAA CUCTEMA» (7 cemecmp)

HpOBepﬂEM 33}13]—[]/[6 Bapl/laHTLl OTBETOB T]/[l‘[
ast CJI0KHOCTH
KOMIIETEHI Bonpoca
751
VYK-4.2 |1.Match English words with their a) TO3BOHOYHHUK HU3KUi /
translations. b) xoctb cpenHuit
1. Skeleton C) uepen
2. Bone d) ckener
3. Skull
4. Vertebrae
VYK-4.2 | 2.Match English words and phrases with a) 3aJHUE MBIIIIIBI HU3KUi /
their translations. b) nepennue CpeaHMIA
1. Muscles MBIIIIIIBI
2. Posterior muscles C) MBIIIIBI
3. Anterior muscles d) ckesnerHsie
4. Skeletal muscles MBIIIILIBI
VYK-4.2 |3.Match English words with their a) BOJIOC HU3KUi /
translations. b) xoxa CpeaHHMIA
1. Skin C) xenes3a
2. Hair d) mHorots
3. Gland
4. Nail
VYK-4.2 | 4.Match English words and phrases with a) KpacHbIe HU3KUi /
OIK-1.2 | their translations. KPOBSIHBIC CpeaHHi
OINK-1.3 1. Blood KJIETKH
2. Tissue b) OGenbie kpoBsiHBIE
3. Plasma KJIETKH
4. Red blood cells C) KpoBb
5. White blood cells d) ceaska
6. Platelets e) miazMa
f) TpomOOIUTHI
VYK-4.2 |5.Match English phrases with their a) leukocytes CpenHuit
YK-4.3 | translations. b) platelets
1. T'emornobun ¢) hemoglobin
2. DpUTPOLUTHI d) red blood cells
3. JledikonmThI
4. TpoMOOIUTHI
YK-4.2 | 6.Fill in the necessary modal verbs. a) may CpemHui
YK-4.3 | 1. | am waiting for my brother. He ---- come b) can
any minute.
VK -4.2 | 7.Match English words with their a) obiseryarp cpenHuit
YK -4.3 | translations. b) uyecats
1. Scratch C) pacclamBaThCs
2. Soothe d) BeICYyIIMBATH
3. Dry out
4. Flake
YK -4.2 | 8.Choose the correct variant to complete the a) avoided cpeaHui
YK -4.3 | sentence. b) avoid




1. It’s better for you if you ---- salt c) will avoid
d) had avoid
YK-4.2 | 9.Choose the correct variant to complete the a) administer cpeaHui
YK-4.3 | sentence. b) is administered
1. Surgical treatment is a life-saving measure c) administered
when it... in due time d) has administered
VYK -4.2 | 10.Fill in the necessary word. a) thin CpeaHuii
VYK -4.3 | 1. The-surgeon performs ---- operations on the b) delicate
eyes. c) fragile
d) frail
YK -4.2 | 11.Choose the correct variant to complete a) Il soon move cpeaHui
YK -4.3 | the sentence. b) moved
1. She ---- out of intensive care C) was moving
d) had mooved
YK -4.2 | 12.Choose the correct variant to complete a) when CpeaHui
YK -4.3 | the sentence. b) where
1. It's procedure----we numb the skin and take c) what
a tiny sample.
VYK-4.2 | 13.Which body system are the following a) Blood system cpenHuit
YK-4.3 | medical terms connected with? b) Skeletal system
1) movement, bone, cartilage, ribs c) Muscular system
2) hair, sweat, verruca, postules d) Integumentary
3) striated, contraction, fibres, tendon system
4)leucocytes, coagulation, anemia, fibrin
VYK -4.2 | 14.Match up the beginning of the sentences a) ... to form joints. cpenHuit
VYK -4.3 | 1-4 with the appropriate ending a-d to form b) ...form the
OIK-1.2- | true sentences. musculoskeletal
OMK-13 | 1. The skeleton, muscles, tendons, ligaments, system.
and other components of joints... c) ... flat and long.
2. Bones have two main shapes:... d) ...a constantly
3. Bones come together... changing bodily
4. Bone is... tissue  that  has
several functions.
YK -4.2 | 15. Match English words and phrases with a) TPEeANOIOKHUTEIHHBI CpeaHHA
YK -4.3 | their translations. W uarao3
1. |Initial diagnosis b) TepaneBTHUEeCcKOE
2. Suggested diagnosis JeYeHUe
3. Medical treatment C) XHpYpru4eckoe
4. Surgical treatment JIeUCHHE
d) mepBOHauaNBHBIN
JAUarHo3
YK -4.2 | 16.Match English words and phrases with d) CHUMITOMATHYECKOE cpenHuit
YK -4.3 | their translations. JIeUCHHE
a) Associated disease b) comyrcrByromee
b) Chronic disease 3a0oJIeBaHUE —
c) Symptomatic treatment C) XpOHHYECKOE
d) Basic diagnosis 3aboJcBaHKe

OCHOBHOI1 TMarHo3




YK-4.2 | 17. What are the main cause of death in a) 1,2 BBICOKHIA
VK-4.3 | massive bleeding in the first hours after its b) 2,
OIIK-1.2 | occurrence? c) 34
OHK-13 1| iver ischemia. d) 4
Acute hemodynamic disorder.
Respiratory distress.
Renal failure.
Choose the correct combination of
answers.
VYK-4.2 | 18. Specify methods of physical stopping of a) 14 BBICOKHI
YK-4.3 | bleeding. b) 2,3
1. Application of cold c) 134
2. Tamponization of the wound d) 34
3. Hemostatic sponge
4. Electrocoagulation
Choose the correct combination of answers.
YK-4.2 | 19. Match up the beginning of the sentences a) ... one-third of all cpenuuii/
YK-4.3 | 1-4 with the appropriate ending a-d to form cells in the body and BBICOKU I
true sentences. 99.9 percent of the
1. Blood is classified as... cells in blood.
2. Blood is viscous mainly due to... b) less than one
3. Red blood cells account for ... percent of total blood
4. Leukocytes, or white blood cells, make volume.
up ... C) ...aconnective tissue
because it has both
fluid and  solid
(cellular)
components.
d) the red blood
cells.
YK-4.2 | 20.Match up the beginning of the sentences a) ... about 20 square | cpemHwmii/
VK-4.3 | 1-4 with the appropriate ending a-d to form feet (1.9 square BBICOKHIA
true sentences. meters) of  skin
1. Muscles are named according to their which weighs about
56 pounds (2.7
2. The name of many muscles also kilograms).
includes the type of... b) ... 600.000 particles
3. The average person is covered with... of skin per hour,
4. Anaverage man or woman sheds about which is
approximately 1.5
pounds (680 grams)
per year.
c) ...location, origin
and insertion,
direction of muscle
fibers, size, shape,
type of  action
produced, or other
criteria, such as
nearby bones.
d) ... movement or

action that they bring
about.




PA3JIEJI 4. «MYKCKAA PEITPO/IYKTHBHAA CHCTEMA. .KEHCKAA PEIIPO/IYKTHBHAA
CHCTEMA» (8 cemecmp)

IIposepsie 3ananue BapuanTbl 0oTBEeTOB Tun
Masl CJIOZKHOCTH
KOMIIETECH BoOIIpoca
s
VK-4.2 | 1.Match English words and phrases with a) mpejacTarenbHas HU3KUi /
their translations. xKeresa CpeaHHMIA
1. Urethra b) momionka
2. Secretion C) MOYeHuCITycKaTellbH
3. Prostate BIN KaHaJ
4. Scrotum d) BeigeneHne
VYK-4.2 | 2.Match English words with their a) 1Ieiika MaTKH HU3KUi /
OIK-1.2 | translations. b) smuHMK cpenHuit
OIK-1.3 1. Ovary C) MaTka
2. Uterus d) moueucmyckareibH
3. Urethra Bl KaHal
4. Vagina e) BaruHa
5. Cervix
YK-4.2 | 3. Which body system are the following a) The female CpeaHHIA
YK-4.3 | medical terms connected with? reproductive system
1.Testes, duct system, epididymis, vas b) The male
deferens, accessory glands, seminal vesicles, reproductive system
prostate gland, penis.
2. Ovaries, uterine tubes, uterus, vagina, vulva,
mammary glands.
YK-4.2 | 4.Fill in the necessary modal verbs. a) may CpeaHHi
VK-4.3 | 1. I measure this patient’s blood pressure? b) allow
YK -4.2 |5Match English words with their a) MOBpEXIATh CpeaHMIA
YK -4.3 | translations. b) pasnuuate, OTIHYATH
OINK-1.2 1. Break down C) pacIerisiTh
OIK-1.3 2. Distinguish d) npuBogHTH K
3. Resultin
4, Damage
VYK -4.2 | 6.Fill in the necessary word. a) quiet cpenHuit
YK -4.3 | 1. On examination it was found out that the b) smooth
surface of the skin on the chest was ------ . c) calm
d) mild
YK -4.2 | 7.Choose the correct variant to complete the a) Il be CpeaHHMIA
YK -4.3 | sentence. b) was
1. If his progress so far is anything to go by, c) had been
he ---- (be) up and about in a few days. d) Is
YK-4.2 | 8.Choose the correct variant to complete the a) buy CpeaHMIA
YK-4.3 | sentence. b) is buying

1. The women... the ointments didn’t have a
prescription.

¢) had bought
d) buys




YK -4.2 | 9.Choose the correct variant to complete the a) taking CpeaHMIA
YK -4.3 | sentence. b) to take
1. You might want ---- this medication from c) was taken
now on. d) took
VYK -4.2 | 10.Choose the correct variant to complete a) when CpenHuit
YK -4.3 | the sentence. b) where
1We're going to do a procedure.... We pump c) what
some air into the baby's back passage.
VYK -4.2 | 11. Match the first part of the sentence with a) ... an inflammation cpenHuit
YK -4.3 | the second one. of the prostate gland.
OIIK-1.2 1. The prostate gland in healthy adult b) ... and under the
OlK-1.3 males ... bladder.
2. Itis located in front of the rectum ... C) ... the urethra.
3. The prostate surrounds ... d) ...isabout the size of
4. Prostatitis is ... a walnut.
YK -4.2 | 12.Match English words and phrases with a) admission diagnosis CpeaHHIA
YK -4.3 | their translations. b) regime of treatment
1. 3aboseBaHue B HAYAJILHOW CTaIUU c) early case
2. Kpwusuc 6one3uu d) turning point in the
3. JluarHo3 mpu MOCTYIJICHUU OOJIBHOTO course of a disease
4, Pexwum neueHus
VYK -4.2 | 13.Match English words and phrases with a) advanced case cpenHuit
YK -4.3 | their translations. b) after-care
1. COMHHTENbHBIN AUArHO3 c) doubtful diagnosis
2. 3aboneBaHMe B 3aNyIICHHON CTaJIUU d) complete course of
3. JloneunBanue treatment
4. TlonmHbli KypC J€4eHUs
YK -4.2 | 14. At what point does the preoperative a) 1,2,3 CpeaHHA
VYK -4.3 | period begin? b) 2,4
OIlK-1.2 1. From the beginning of the disease. c) 4
OlK-1.3 2. From the moment the diagnosis is 234
made.
3. From the moment of admission to the
surgical hospital.
4. From the moment the indications for
surgery are established.
Choose the correct answer.
VK -4.2 |15. What are the methods of emergency a) 34 CpenHuit
YK -4.3 |contraception? b) 1,2
1. Intrauterine copper device ¢ 1,23
2. Levonorgestrel 1.4
3. Ulipristal acetale
4. Contraceptive vaginal ring
Choose the correct combination of
answers.
YK -4.2 | 16. External female genitalia include: a) 1,234 cpennuii/
YK -4.3 1) labia majora and labia minora b) 2,3 BBICOKHU I
2) vestibule of vagina c) 1,2
3) vagina 34

4) uterus




Choose the correct combination of

answers.
YK -4.2 | 17. Match abbreviations with their a) pelvic inflammatory CpeaHMA
VYK -4.3 | definitions disease
1. AIDS b) in vitro fertilization
2. PSA c) acquired
3. PID immunodeficiency
4. IVF syndrome
d) prostate-specific
antigen
YK -4.2 | 18. Match up the beginning of the sentences a) ...acute  prostatitis cpenuuii/
VK -4.3 | 1-4 with the appropriate ending a-d to form and chronic BBICOKHI
OIK-1.2 | true sentences. prostatitis.
OTK-1.3 1. The male reproductive organs and b) ...the combination of
structures are the testes, a duct the secretions of the
system... accessory glands and
2. The accessory glands are... sperm.
3. The two types of prostatitis are... C) ...that includes the
4. Semen (from the Latin, meaning epididymis and the
“seed”) is... vas deferens, the
accessory  glands,
including the seminal
vesicles and prostate
gland, and the penis.
d) ...the seminal
vesicles, the prostate
gland, and the
bulbourethral glands.

YK -4.2 | 19. Match up the beginning of the sentences a) ...an inverted, pear- | cpemHmii/
YK -4.3 | 1-4 with the appropriate ending a-d to form shaped structure BBICOKU I
true sentences. located between the
1. The organs of the female reproductive urinary bladder and

system include... the rectum.
2. Oogenesis is... b) ...the result of the
3. The uterus (from the Latin, meaning uterine tubes
“womb”) is ... becoming blocked by
4. Infertility is... scar tissue.
C) ...the ovaries, the
uterine tubes, the
uterus, the vagina,
the external organs
called the vulva, and
the mammary
glands.
d) ...the production of
ova (eggs) in the
ovaries.
YK -4.2 | 20. Match questions with answers. a) Who was the first cpennuii/
YK -4.3 1. Gynecology (from the Greek gune, test-tube baby? BBICOKHI

meaning “woman”) is the branch of
medicine that specializes in the

b)

Why is it impossible
for a man to urinate




diagnosis and treatment of conditions
of the female reproductive system.
Urologists treat medical conditions of
the male reproductive system.

Louise Brown, born on July 25, 1978,
in England, was the first baby produced
from fertilization done in vitro. Patrick

Steptoe  (1913-1988) was the
obstetrician and Robert Edwards
(1939-) was the biologist who

designed the method for in vitro
fertilization (IVF) and early embryo
development.

The term “testis” i1s from the Latin
testis, meaning “witness.” It was
believed that the paired testes bore
witness to a man’s virility.

Prior to ejaculation, the internal
sphincter closes the opening between
the bladder and the urethra. It does not
relax and open again until ejaculation
is completed. This prevents urine from
entering the urethra during ejaculation
while also preventing ejaculatory fluid
from flowing back into the urinary
bladder.

d)

and ejaculate at the
same time?

Which branch of
medicine specializes
in the reproductive
system?

What IS the
significance of the
term “‘testis” for the
male  reproductive
organs?




